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Exercise (6): Work out. 

a) 52              25                                                      b) 112              121 

c) 73             343                                                      d) √196              14 

e) √125
3

             5                                                   f) √64
3

               4 

g) 103            1000                                                 h) √324               18 

Challenging question. 

Work out. 

−7 − 10 × √16 ÷ √125
3

− (7 + 𝟔𝟐 ÷ 12) − 20 − 43 

−7 − 10 × √16 ÷ √125
3

− (7 +  𝟑𝟔 ÷ 𝟏𝟐) − 20 − 43 

−7 − 10 × √16 ÷ √125
3

− (𝟕 +  𝟑) − 20 − 43 

−7 − 10 × √𝟏𝟔 ÷ √𝟏𝟐𝟓
𝟑

− 10 − 20 − 𝟒𝟑 

−7 − 𝟏𝟎 × 𝟒 ÷ 5 − 10 − 20 − 64 

−7 − 𝟒𝟎 ÷ 𝟓 − 10 − 20 − 64 

−𝟕 − 𝟖 − 10 − 20 − 64 

−𝟏𝟓 − 𝟏𝟎 − 20 − 64 

−𝟐𝟓 − 𝟐𝟎 − 64 

−45 − 64 

−𝟏𝟎𝟗 

 


